CRYPTIC QUIZ

1. What should the JOLLY GREEN GIANT receive?

6 5 18 11 16 15 52 18 70 2 80 18 9 12 13 8 20 30 1 18
2. Why did it take the GOAT more than 3 hours to finish a 20-page book?

5 18 21 8 9 12 16 6 24 4 18 20 3 60 5 10 16 7 20 3

.:: Solve each proportion and find your answer in the code. Each time the answer °§§
35. appears, write the letter of the exercise above it. §§§
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What Happened When There Was a
Kidnapping at Bizarre Middle School?

Write each ratio in simplest form, then find your answer at the bottom of the
page. Write the letter of the exercise in the box above the answer.

l. Write .eachratio. . . . . ‘ . .

@ Stars to squares @ Circles to stars

@ squares to circles @ Stars to all figures . . . . . .
@ Stars to circles @ Squares to all figures * !* * * *

ll. ATV screenis 15 in. high and 20 in. wide. Write each ratio.
(H) Height to width (A) Width to height

I1l. A magazine photograph is 24 cm long and 16 cm wide.
Write each ratio.

(E) Length to width
(P) Width to length

16 cm

IV. There are 30 studentsin a class, including 16 boys. Write each
ratio.

@ Girls to boys ® Boys to girls
@ Girls to all students @ Boys to all students

V. A fire-breathing swamp monster is 36 feet tall. When last observed, his shadow was 40
feet long. Write each ratio.

@ Height of monster to length of shadow
@ Length of shadow to height of monster

VI. Count the number of teeth on each gear.
Then write each ratio.

@ Teeth on Gear X to teeth on Gear Y
@ Teeth on Gear Y to teeth on Gear Z
® Teeth on Gear X to teeth on Gear Z
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NOTE: In Exercise 20, students find the average speed in feet per second
needed to run a 4-minute mile, (Roger Bannisterwas the first persontodo .

this.
What Happened ‘When There Was a ) W

Kidnapping at Bizarre Middle School?

Wirite eachratioin simplest form, then find your answer at the bottom of the
page. Wiite the letter of the exercise in the box above the answer.

1. Write eachratio. 5 1.. . . . . . . Write eaoh;?tlo as a fractionin m@fzs(form Answers:

® Starsto squares T@ Circles to slars 7012 T2 94
® Squares to circles _Q@ Stars to ali figures |e. . . . . - @ @

81010 .i T
@ starsromrcles-s— @ Squares (o all figures 3 * * * * * % 25:50 _j_ % seutonsjg

A Nscreems15|ni\|ghand20 in. wide. Write gachralio. @ 800 60 _q-_ 35.0ut of 100 .zlc
® Heightiowith =T () Widhto height 3 ® TBoutol 760" £ @ vom 2

i, A magazine photograph s 24 cmfong and 16 cm wide. @ The ratio of wins to losses for a leam with 60 wins

Do each exerciseand find your answer to the right. Write the Istter of the answer in
the box containingthe number of the exercise. If the answer has a . shade in the
box instead of writing a fetter in it.
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Write eachratio., and 90 losses. 2
e Lengthto width "2 @ The ratio of girts to boys in a 7th grade class with ==
(P) Width to length 16cm 300 gitls and 250 boys. 3 o
= N AR . @ The ratie of red lo blue for a purplepaint madeby —
M. I:t?om are 30 students in a class, including 16 hnys. Write each mixing 24 oz of red with 28 oz of blue, 7
5 a = The ratie of blue to red for a purplepaint madeby T
® Girls to boys 8 T(R) Boysto girls 7 mixing 24 oz of red with 28 oz of bive. e
@ Girlsto all siudents ~(1) Boys o all students '%
V. Afire-breathingswamp monster is 36 feet tall. When tast observed, his shadow was 40 Il Wiite the ratio of the two measurementsin the
feetlong. Write eachratio. unitindicated {a unitrate). 20
Acar traveled300 miles on 15 gallons of gas. Answers:
@ Height of monster to length of shadow IO @ {miles pr galion)
(W) Langih of shadow to height of monster = Ima Smu typed 120 wordsin 3minutes, 40 @ 48 560
V1. Count the number of teeth on each gear. (wordsper minute)
Then write each ratio. Dr. Granium travelad 2,800 milesin 5 hours. 5 21} @ 32 @ 22
@ Testh on Gear X toteeth on Gear Y z - ir\mlss per mlw':jssmi 130 mint
% Teathon Gear Y to teethon Gear Z ; i~ (reg\?oill\ztti::g;:r minmg)\es M sDmies. '382 @ 5 . 2
Teethon Gear X tofeethon Gear 2 2, Gloria Trench earned$144 in 8 hours,
e (dollarsper hour) @0 @swo
Roger Bannister ran 5280 feetin 4 minutes.
T H d.A clH d A (WawWEl [H! J (laet por second)  (HINT:4min=_? s) 2 ®nv ©»
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E‘7 TOPIC) «a Ratio
TOPKC 1-b Ralio andAista E8
What Did Snidely Say After Filling
at should the JOLLY GREEN GIANT ? 3 1
T Wh GIANT recaive? £ His Car With Super Premium,
TyE_NOBEL PEAS PRIZE um,
5 5 18 11 76 15 52 18 70 T 8078 0 127380 203 T 18 TopTest, Power Plus Gasoline?
2 Why did it take the GOAT more than 3 hours to fn'Sh a 20-page book? Solve each problem and find your answer in the rectangle below. Cross
_B E_ _V( A _§ NT ‘T _y ___E _&_Y — _B __(_J N 9 R~ _Y out tha box that contains your answar. Whan yau finish, writa the letters
5 7821 8 O 12 16 6 24 4 18 20 3 60 5 10 18 7 20 3 from the ramalning boxes In the spaces at the bottom of the page.
@]
55 Solve each proportion and find your answer in the code. Each time the answer ! ’ The Jell L . .
: . ly Junior High school color is Jose can read 7 pages of his book in
'j appears, write the letter of the exarclse above &, 7 @ made by mixing red paint with yeliow @ 5minutes. At this rate, how [ongwﬂllt
paint. Theratio of red to yelffowis 3 to take himto read the entire 1
@ % - 12 30 @ _2_ =5 ”- @ % =21 T 5. How much red paint should be book? mln
n n n

mixed with 20 oz of yellow? 2
_,__ 0z @ Whileexercising.Julle found that her
heart was beating 12 imes every 5

(2) The LawnOrder lawnmower factory seconds. How many times was it

10 " I 5 5 n 1z n 6 can produce 12 lawnmowers in 8 beating per minute (Sﬂseeﬂgn‘?

PLLON i N 2 L0 de o 0 hours. How many hours wiliit take the P
©%-3 ®s-5 3 ©F=13 4

factory to produca30 lawnmgwars?
miah (&) M thereare 1200 caloriesin 8 oz of

hot ludge, how many “""ﬁ?é’ﬂ 3
@ An object that weighs 10 16 oy Earth oz of hot fudge?
1 10 wauld weigh only 4 tb on Mars I you @
B U 48 _ 7 weigh 95 1 on Earih hew m At a certain college, the ratio of men
@ 2 . i ‘0 ® n 3 q @ w16 wot?ldyou waigh on Mars? ga b 10 women is 8 to 5. If there are 1.500
n 3 men, how many women &g o)
@ The ratlo of erange juice to pineapple a‘ g.ego
juice in Tropical Treatpunchis 4 to 3.
Bill has 64 0z df orange juice How . Oneof the world's largest stained-
n_=6 n 18 much pineapplejuice does ed? glass windows Is at Kennedy
@ ) 4 @ T2 I ® —’2'- - gg 3 Egg International Airport in New York, Itis

a rectanglewith a heightio length

(8) Acookiereuipe for 80 cooklescalls ratioof 2 to 25. If the windo
for 4 cups of fiour. How much flour is feet high. how long is it?
neededio make 90 cookies? ¢,
M7 8 .12 cups
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